[ Efficiency vs vertpos |
~ 0.7

20.09
2
20.08F
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0
G.

L

Ratio

+

i

1072 10 0?
TP vertr (cn%)

—.—B Ul‘k%illtldlgrgle (10dar-| a”S%blEﬁel\ll\TWe i:'rﬁlll
— —— D ngle_step2_ttbar-phasel-newgeom
@ —_— B§ 1@ %e‘rgPE trﬁ%nrcpﬁespezl tqbargpﬁasel -newgeom
~ 0.2r "
L S T TR S R
@ E : : : : :
20.16------ IR IO’ Ik et
> r H H H : :
2 [ . : . . .
L S S B b
3] o : : : :
E 0,12 - vbeer e P :
o F : : : :
O SRRl I RRSE St &
O R B8 RREAR &
O e S I
0.04F-+wc-ee - fpddree g 18
0.02F -k

0

2

Ratio

BTS00 0 02030
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
0.0.18F
= o
#0.16
>0 14F
cO 12F
0.15
0.08F

0.06F

efficienc

Sim. PV z (cm)



	Contents
	Page 1


